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Total No. of Questions : 09
MCA (Sem.-3)
THEORY OF COMPUTATION
Subject Code : PGCA-1927

M.Code. : 90800
Date of Examination : 05-08-22

Time : 3 Hrs. Max. Marks : 70

INSTRUCTIONS TO CANDIDATES :

1. SECTION-A is COMPULSORY consisting of TEN questions carrying TWO marks
each.

2. SECTION - B & C have FOUR questions each.
Attempt any FIVE questions from SECTIONB & C carrying TEN marks each.
4. Select atleast TWO questions from SECTION - B & C.

o

SECTION-A

l.  Write short notes on :

a. Explain CNF.

b. Write about Intractable problems.

¢. Explain Church-Turing thesis.

d. Discuss about minimization of FA.

e. Describe lexical analysis.

f.  What is non-computational problem?

g. Explain Mealy machine.

h. What is the halting problem?

i. Explain NPDA in short.

j- What is non-regular language?

1| M-90800 (5112)-2076



SECTION-B

7 Differentiate DFA and NDFA. Construct a finite automata a - |set
and write the language :

{W € {a, b}*: number of a’s is a multiple of 3 and number of\;\s is even.}

3.  Explain regular expression. Write a regular expression for all words o
a. At least one ‘a’ and one ‘b’
b. ‘a’ appears in integer multiple of 3(three) if it appears.
c. With exactly two ‘a’s OR two ‘b’s.

4. State Pumping lemma and prove that the language L = {a“bkc'”k: n=0, k=0} is not
regular.

. 5 Convert the following CFG into Greibach normal form :
A|—-> Az A3, Az—*A3 Al, Az——"b, A3'—+A| Az, A3——>a

SECTION-C

6. Design a Turing Machine (single tap double track) for computing the following function :

F(x,y)=Xx if x>y
=y if x<y
=2*x if x=y

7. Explain PDA. Consider grammar G whose production rules are
S — 0B|1A
1 A — 0|0S|1AA

B —1|1S|0BB.

8. What was the Chomsky’s classification of grammars (write general form of productions
only, with an example of each class)?

9.  Write short notes on the list given below :
a) PCP
b) Recursive and RE language.

NOTE : Disclosure of Identity by writing Mobile No. or Marking of passing request on any
paper of Answer Sheet will lead to UMC against the Student.

2 | M-90800 | (5112)-2076
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Total No. of Questions : 09

MCA (Sem.-3) ~

ARTIFICIAL INTELLIGENCE & SOFT CO
Subject Code : PGCA1926
M.Code : 90799
Date of Examination : 03-08-22

Time : 3 Hrs. Max. Marks : 70

INSTRUCTIONS TO CANDIDATES :
1. SECTION-A is COMPULSORY consisting of TEN questions carrying TWO marks
each.
2. SECTION - B & C have FOUR questions each.
Attempt any FIVE questions from SECTION B & C carrying TEN marks each.
4. Select atleast TWO questions from SECTION - B & C.

o

SECTION-A
1.  Write short notes on :
a) Define Intelligence.
b) What is Soft Computing?
c) Differentiate between Horn Clauses and Definite Clauses.
d) How do you represent “All dogs have tails™?
e) Define Parsing.
f) What is Resolution? Briefly explain the resolution principle.

g) What is grammar? Is it possible to extract meaning of a sentence without using
grammatical facts?

h) Define Defuzzification.
i) What do you mean by Multilevel Optimization?

j) Define Unsupervised Learning Networks.

1| M-90799  (5112)-1862




SECTION-B

2)  Discuss 8-Queens problem in detail. How many solutions
3) Differentiate between Forward and Backward Chaining in |

4)  What do you mean by Heuristic Search? Discuss Greedy best s
suitable example.

5)  What is semantic analysis and pragmatics? Discuss with example
. SECTION-C

6) Differentiate between Hard and soft Computing. Discuss major application ar
Computing. ——

7)  Differentiate between single layer and multilayer perceptron. [Discuss back g
network Architecture. i

8)  What are the basic components of a fuzzy logic system? Explain‘éach of them

9) Explain in detail about various operators of GA and also explain GA
procedure. s

NOTE : Disclosure of Identity by writing Mobile No. or Marking of passmg req;
paper of Answer Sheet will lead to UMC against the Student.
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Total No. of Questions : 09
MCA (Sem.-3)
ADVANCED COMPUTER NETW
Subject Code : PGCA-1925
M.Code : 90798
Date of Examination : 01-08-22

Time : 3 Hrs. Max. Marks : 70

INSTRUCTIONS TO CANDIDATES :

1. SECTION-A is COMPULSORY consisting of TEN questions carrying TWO marks
each. ;

2. SECTION -B & C. have FOUR questions each.

Attempt any FIVE questions from SECTIONB & C carrying TEN marks each.

4. Select atleast TWO questions from SECTION - B&C.

g

SECTION-A
1)  Write short notes on :
a) What are the issues in seamless mobility in mobile networks?
b) What do you mean by frequency reuse in cellular networks?
¢) What is the need of a routing algorithm?
d) Define attenuation and distortion in data communication.
¢) What are the benefits of a layered architecture in computer networks?
) What is static channel allocation at MAC layer?
g) List various design issues at network layer.
h) What is IPv4 address?
i) What are the causes of interference in wireless systems?

j) What is FTP?

1| M-50798 {S112)-1619




s

2)

3)

4)

6)

8)

9)

SECTION-B

Explain the OSI model in detail and discuss functionality of ea lc.

What do you mean by sliding window protocol? Illustrate the &i}fc‘renqg: between Stop &
Wait ARQ protocol and Go-back-N ARQ protocol at data link layer with anjex ple.

Discuss various types of transmission media used for data communication in computer
networks.

What are the causes of congestion in a computer network? Explain various congestion
control techniques with suitable example.

SECTION-C

List and explain the features provided in IEEE 802.11 standard. Discuss the suitability of
each feature with respect to mobile networks.

Discuss the evolution of wireless communication systems. What are the new
functionalities supported by 5G as compared to 4G technology?

Explain the working of any routing protocol used in adhoc networks. Use suitable
example for illustration of the routing protocol.

Write short notes on :
a. Cellular Network

b. Handoff strategies in wireless systems.

NOTE : Disclosure of Identity by writing Mobile No. or Marking of passing request on any

2 | M-90798 {5112)-1619

paper of Answer Sheet will lead to UMC against the Student.
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Total No. of Questions : 09 %_k / ;
MCA  (Sem.-3)  N\ON_

DATA MINING AND BUSINESS lNTELLT&
Subject Code : PGCA-1972
M.Code : 90803
Date of Examination : 10-08-22

Time : 3 Hrs. Max. Marks : 70

INSTRUCTIONS TO CANDIDATES :

1. SECTION-A is COMPULSORY consisting of TEN questions carrying TWO marks
each.

2. SECTION -B & C. have FOUR questions each.

Attempt any FIVE questions from SECTIONB & C carrying TEN marks each.

4. Select atleast TWO questions from SECTION - B & C.

w

SECTION-A
1)  Write short notes on :
a) What is the difference between a database and data warehouse?
b) Draw a star scheme by taking a suitable example.
¢) Briefly describe the concept of data compression.
d) Mention the broader steps of data pre-processing.
e) Identify the relationship between OLAP and OLTP.
f) What is spatial mining and web mining?
g) Name few applications of data mining for business intelligence.
h) What is linear and non-linear regression method for prediction?
1) Which properties are important for frequent itemset mining?

J) What is CART? List down its advantages.

ﬁ
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2)
3)

4)

3)

6)

7
8)
9

SECTION-B

Describe the BI process and technology along with its roles and responsibilities.

Explain the steps of data preprocessing and describe the ways to handle missing or noisy
data.

Explain the dimensional analysis approaches: Drill-down and Roll-up, slice and dice or
rotation.

Discuss the importance of dimensionality reduction. Explain the technique of Principal
Component Analysis (PCA) in detail.

SECTION-C

Trace the results of using the Apriori algorithm on the grocery store example with
support threshold, s = 33.34% and confidence threshold, ¢ = 60%. Show the candidate
and frequent itemsets for each database scan. Enumerate all the final frequent itemsets.

Transaction ID | Items
19 HotDogs, Buns, Ketchup
T2 HotDogs, Buns
T3 HotDogs, Coke, Chips
T4 Chips, Coke
T5 Chips, Ketchup
T6 HotDogs, Coke, Chips
How is data mining beneficial for market segmentation and for retail industry? Justify. .

Explain in detail the Hadoop architecture and working of Map and Reduce phases.
Write short notes on the following :
a) K-means clustering

b) Logistic regression.

NOTE : Disclosure of Identity by writing Mobile No. or Marking of passing request on any

2|

paper of Answer Sheet will lead to UMC against the Student.
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Total No. of Questions : 08

MCA (Sem.-3)
THEORY OF COMPUTATION
Subject Code : PGCA1927

M.Code : 90800
Date of Examination : 04-02-22

Time : 2 Hrs. ; Max. Marks : 70

INSTRUCTIONS TO CANDIDATES :
1. Attempt any FIVE question(s), each question carries 14 marks.

. State and prove Principle of Mathematical Induction.
a) Prove that € +RR* = R* =€ +R*R b) Prove that (P + Q)* = P*Q*

What are Context Free Grammars? How are they different from context free language?
Discuss various normal forms for context free grammars in brief.

S

(9% ]

4. a) State the principle of pumping lemma. Also discuss its various applications.

b) Reduce the given CFG S — abSb/a/aAb and A — bS/aAAb to Chomsky Normal Form
(CNF). ‘

a) Differentiate between recursively enumerable and recursive languages.

h

b) What are Context Sensitive languages? Explain
6. a) Design a Turing Machine that can add two unary strings.

b) Design a Turing Machine which can find transpose of a binary string.
7. a) Prove the following property of regular expressions: R + R = R,

b) State whether the following statement is true or not. Justify your answer as well :
IfL and M are regular languages then L + M, LM and L* are also regular.

8.  Prove that the class of languages accepted by finite automata is closed under :
a) Union. b) Complementation. ¢) Intersection.
Note: Any student found attempting answer sheet from any other person(s), using

incriminating material or involved in any wrong activity reported by evaluator shall be
treated under UMC provisions.

Student found sharing the question paper(s)/answer sheet on digital media or with any
other person or any organization/institution shall also be treated under UMC.

Any student found making any change/addition/modification in contents of scanned copy of
answer sheet and original answer sheet, shall be covered under UMC provisions.

1|M-950800 1975
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RoIINo.: o i EEN L Total No. ¢
Total No. of Questions : 08

MCA (Sem.-3)
SOFTWARE PROJECT MANAGEMENT
Subject Code : PGCA-1930

M.Code : 90801
Date of Examination : 08-02-22

Time : 2 Hrs. Max. Marks : 70

INSTRUCTIONS TO CANDIDATES : 7
1. Attempt any FIVE question(s), each question carries 14 marks.

: 1. Describe The Oldmén Hackman Job characteristics model in detail.
. 2. Explain the following in detail :
a) Cash Flow Analysis
b) Cost Benefit Evaluation
¢) Cost Benefit Analysis

3.~ What do you understand by software processes? Discuss in detail various process models.
4.  Discuss in detail PERT and Monte Carlo Simulation technique.
5.  Explain the term Contract Management. Describe various types of Contracts in detail. Also

discuss typical terms of Contracts.
6. Explain the following in detail :
a) Capers Jones Estimating rule of thumb
b) Critical Path Analysis
¢) Decision Making
. 7. Explain COCOMO II in detail. Explain with example.

8. Describe Cost Monitoring Review Technique in detail.

Note: Any student found attempting answer sheet from any other person(s), using
incriminating material or involved in any wrong activity reported by evaluator shall be
treated under UMC provisions.

Student found sharing the question paper(s)/answer sheet on digital media or with any
other person or any organization/institution shall also be treated under UMC.

Any student found making any change/addition/modification in contents of scanned copy of
answer sheet and original answer sheet, shall be covered under UMC provisions.

[
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Roll No. . | ‘ ‘ ‘ WO W R Total N. g =01
Total No. of Questions : 08

« MCA (Sem.-3)
MOBILE APPLICATIONS DEVELOPMENT
Subject Code : PGCA1933

M.Code : 90805
Date of Examination : 17-02-22

Time : 2 Hrs. ' Max. Marks : 70

INSTRUCTIONS TO CANDIDATES :
1. Attempt any FIVE question(s), each question carries 14 marks.

1. Describe the characteristics, framework and tools of mobile development.
2. Define interface and layouts. Explain the designing of user interface in mobile applications.
3. Explain in detail service life cycle.

4. Discuss the process of handling data in mobile apps. Explain different types of database
used in mobile.

5. Discuss the directory structure of an Android Project.
6.  What are open platforms? Explain the working and use of mobile operating systems.
7. Make an application to illustrate the use Seekbar and Progressbar.

8.  Explain the architecture of iOS and advanced iphone styling.

Note: Any student found attempting answer sheet from any other person(s), using
incriminating material or involved in any wrong activity reported by evaluator shall be
treated under UMC provisions.

Student found sharing the question paper(s)/answer sheet on digital media or with any
other person or any organization/institution shall also be treated under UMC.

Any student found making any change/addition/modification in contents of scanned copy of
answer sheet and original answer sheet, shall be covered under UMC provisions.

1|M-90805 ' 2628
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Total No. of Questions : 08 R
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MCA (Sem.-3) —
ARTIFICIAL INETELLIGENCE AND SOFT COMPUTING

Subject Code : PGCA1926

M.Code : 90799
Date of Examination : 02-02-22

Time : 2 Hrs. Stan Max. Marks : 70

INSTRUCTIONS TO CANDIDATES :
1. Attempt any FIVE question(s), each question carries 14 marks.

1. a) Define intelligence. What is the intelligent behavior of a machine?

b) What are weak methods? Identify the mainl difficulties that led to the disillusion with
Al in the early 1970s.

2. a) Describe the forward chaining inference process. Give an example.

b) List problems for which the forward chaining inference technique is appropriate. Why
is backward chaining used for diagnostic problems?

Ll

Provide a definition of the word “heuristic.” In what ways can heuristics be useful in
search? Name three ways in which you use heuristics in your everyday life.

4. How does an artificial neural network model the brain? Describe two major classes of
learning paradigms: supervised learning and unsupervised (self-organised) learning. What
are the features that distinguish these two paradigms from each other?

5. a) What is Soft Computing? What is the difference between Hard and Soft computing?
b) Briefly discuss the applications of Soft Computing.

6. What are a fuzzy set and a membership function? What is the difference between a crisp set
and a fuzzy set? Determine possible fuzzy sets on the universe of discourse for man
~ weights.

7. What are the main steps of a genetic algorithm? Draw a flowchart that implements these
steps. What are termination criteria used in genetic algorithms?

8.  Explain what is meant by Natural Language Processing. Explain the role of each of the
following in Natural Language Processing: morphology, syntax, semantics, pragmatics, and
grammar.

1|M-90799 1690




Note: Any student found attempting answer sheet from any other person(s), using
incriminating material or involved in any wrong activity reported by evaluator shall be
treated under UMC provisions.

Student found sharing the question paper(s)/answer sheet on digital media or with any
other person or any organization/institution shall also be treated under UMC.

Any student found making any change/addition/modification in contents of scanned copy of
answer sheet and original answer sheet, shall be covered under UMC provisions.

2|M-90799 1690
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Total No. of Questions : 08 5

JEWE

MCA (Sem.-3)
ADVANCED COMPUTER NETWORKING

Subject Code : PGCA-1925

M.Code : 90798
Date of Examination : 31-01-22

Time : 2 Hrs. Méx. Marks : 70

INSTRUCTIONS TO CANDIDATES :
1. Attempt any FIVE question(s), each question carries 14 marks.

1. a) Briefly discuss protocols associated with layers of TCP/IP protocol suite.
b) Discuss the benefits of using ATM techno logy.
2. a) What is packet switching? Explain X.25 equipments.

b) Write a short note on SNMP (Standard Network Management Protocol).

[0S ]

Explain various topologies and transmission media for backbone N/W.

4. Compare IPV4 and IPV6 with their header formats. Giving the details of class based
addressing scheme of IPV4 and IPV6.

i

Explain CSMA-CA/CD. In CSMA/CA and CSMA/CD, why the Communication mode for
these two access methods are classified as Broadcast based?

6. What is dynamic routing? Create WAN (wide area network) using three routers and assign
appropriate IP addresses to each router port. Also show the router configuration command
for setting up of any one dynamic routing protocol.

7. Explain the WWW in detail :
a) Hypertext & Hypermedia
b) Browser Architecture
¢) Categories of Web Documents
d) HTML
e) CGI Java.

8.  Explain evolution, examples of wireless communication systems, 2C Cellular networks,
evolution for 2.5G TDMA Standards, 1S-95B for 2_5¢ CDMA.

k.
ad
%y
S
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Note: Any student found attempting answer sheet from any other person(s), using

incriminating material -or involved in any wrong activity reported by evaluator shall be
treated under UMC provisions.

Student found sharing the question paper(s)/answer sheet on digital media or with any
other person or any organization/institution shall also be treated under UMC.

Any student found making any change/additionfmodification in contents of scanned copy of
answer sheet and original answer sheet, shall be covered under UMC provisions.

2|M-90798 1354



Roll No. fl_J_.. b bl b Ll I,,,,;,, 1 .;J Total No. of Pages : 02

Total No. of Questions : 18

MCA (E-l) (2015 to 2018) (Sem.-3)
SYSTEM PROGRAMMING
Subject Code : MCA ~(EA
M.Code : 74077

Time : 3 Hrs. Max. Marks : 60

INSTRUCTIONS TO CANDIDATES :

1. SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students has to attempt any ONE question from each SECTION.

2. SECTION-E is COMPULSORY consisting of TEN questions carrying TWENTY
marks in all.

SECTION-A
) What is assembler? Explain working of single and two 1::.55 asse nbler.
2)  What are Macro-processors? Give its features and data structure used in it.
SECTION-B
3)  Explain absolute and bootstrap loader. Explain features of word processor.
4)  Explain in detail the structure of text editor?
SECTION-C

5)  What is the need of code optimization? What are th: different techniques of code
optimization? Explain with suitable example.

6) Discuss top-down parsing scheme with help of example. What is the role of lexical and
syntax analysis?

SECTION-D

7) ~ What are distributed Operating Systems? Explain its characteristics. How they are different
from network and mobile OS?

8)  What is Process Management? Explain all types of scheduicrs.

1|V

https://lwww.ptustudy com




SECTION-E

Write briefly :

9)

10)
11)
12)

13)

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any

2 |

JIT Comiplers.
Define RISC.
Language processor.
Bootstrap Loader.
Relocation.

Overlays.

Define NDFA.
Platform Independent.
Define YACC.

Define USB.

page of Answer Sheet will lead to UMC against the Student.




Roll No.i ‘ J ‘ ‘ { I [ ]_‘ ’ {’ Tot:zl Mo. of Pages : 02

Total No. of Questions : 18

MCA (E-I) (2015 to 2018) (Sem.-3)
EMBEDDED SYSTEM

Subject Code : MCA-305C
M.Code : 74079

Time : 3 Hrs. Max. Marks : 60

INSTRUCTIONS TO CANDIDATES :

y

2.

6.

1| M-7407:

SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students have to attempt any ONE question f1:r ~a~h SECTION.

SECTION-E is COMPULSORY consisting of TEN guesiions carrying TWENTY
marks in all.
SECTION-A
Discuss the overall design process of embedded system.

a) Briefly discuss the various challenges associated with the design of embedded
systems.

b) Give overview of development and testing tools.
SECTION-B
Discuss the PIN diagram of 8-bit 40 Pin PIC micro-controller 16F877A.

a) What is a timer? How does a counter performs Timer function and time-capture
functions?

b) Briefly discuss various addressing modes.
SECTION-C

a) Discuss the instruction set used in PIC16F877A.

b) Discuss different types of interrupts.

Write short notes on the following :

a) Memory-Mapped [/O

b) Assembler directives

—_——— e . S——



SECTION-D

Explain the use of embedded systems in networking and telecom applications.

Write short notes on the use of embedded systems in following :
a) Digital signal processing applications

b) Multimedia applications.

SECTION-E

Write briefly :

9

10.

What is the difference between requirements and specifications?

Name any two embedded system development environments.

What is the difference between microcontroller and microprocessor?
What is the difference between timer and counter?

What is the use of time comparator?

What do you mean by A/D convertor?

Name the components of embedded system hardware.

What do you mean by release time and response time of real time tasks?
Why embedded system is called as real-time system?

What do you mean by serial port?

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any

2|1

page of Answer Sheet will lead to UMC against the Student.
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Total No. of Pages : 02

Total No. of Questions : 18

MCA (2015 to 2018) (Sem.-3)
DATABASE ADMINISTRATION
Subject Code : MCA-301
M.Code : 74073

Time : 3 Hrs. Max. Marks : 60

INSTRUCTIONS TO CANDIDATES :

1:

i

3)

4)

3)

6)

SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students has to attempt any ONE question from each SECTION.

SECTION-E is COMPULSORY consisting of TEN questions carrying TWENTY
marks in all.

SECTION-A
a) Describe client-server model.
b) Discuss the activities of database environment managemen .
What is database package? Compare various database packages with market.
SECTION-B
What is database replication? What are the problems faced during this? Explain in detail.
a) Write notes on :
a. Data Compression
b. Business Policy Implementation
b) Write a note on Data Compression and Business Policy Implementation
SECTION-C
What is RAID technology? How it is implemented? Explain its levels in detail.

Explain all steps how to create, modify and delete user roles. Also discuss roles of user.

1 I M-74073



8)

What is an Index? How it helps in improving database performance? Explain with

example.

What is performance tuning in databases? Discuss its methodology.

Write briefly :

9)

16)
17)

18)

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any
page of Answer Sheet will lead to UMC against the Student.

2| N

Log Switch

RAID

Instance Vs. Schema
Stored Procedures
Tablespace

Partial Backup

a) Auditing

b) On-line redo log
Data Encryption
Sub Query

Nested Function

SECTION-D

SECTION-E




Roll No. | ] [ ! Total No. of Pages : 02
Total No. of Questions : 18

MCA (E-1) (2015 to 2018) (Sem.-3)
THEORY OF COMPUTATION
Subject Code : MCA-305B
M.Code : 74078

Time : 3 Hrs. Max. Marks : 60
INSTRUCTIONS TO CANDIDATES :

1. SECTIONS-A, B, C & D contains TWO questions eac : carrying TEN marks each
and students have to attempt any ONE question from ¢uch STCTION.

2. SECTION-E is COMPULSORY consisting of TEN questions carrying TWENTY
marks in all.

SECTION-A
QI a) Discuss onc-one onto function by taking suitable example

nn-=1)

b) Prove that Z(n—l = ) using mathematical induction.

Q2 Design an automaton accepting all the strings ending with bh. "“here L hle X

SECTION-B
Q3 a) Construct a DFA for the regular expression (04 10)* 1O1(0+10)*.
b) Design a DFA accepting language L = {a"bb n21&{a.hie X}
Q4 Construct a CFG for L={a"p"cF nem=p. p>1&fa.b.c)eX}
SECTION-C
Q5 Explain the following :
a) Ambiguity in CFG
b) DPDA

s not context free

Q6 Show that language L. = [ab"¢" n >0 &fabec! ¥ !

1| M-74078
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SECTION-D

Design a Turing Machine which recognizes palindromes over {0.15.

Explain the following :
a) Mulutape Turing Machme

b) Chomsky Hierarchy

SECTION-E

Write briefly :

Q9

Q10

Q11

Q12

Q135

QIl6

Q17

QI8

State pumping lemma for regular languages.

Discuss the concept given by Arden's theorem.

What is meant by regular expression?

Define a Derivation Tree for a CFG

What arc two normal forms for a CFG?

Define Acceptance of PDA by Empty Stack.

What is halting problem of Turmg Machine?

Compare PDA and TN

Write two properties of recursively enumerable languages.

Define NP complete problem

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any

2|

page of Answer Sheet will lead to UMC against the Student
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MCA (2015 to 2018) (S (.2
INFORMATION SECURITY
Subject Code : MCA-307
M.Code : 74074

Time : 3 Hrs. Max. Marks : 60

INSTRUCTIONS TO CANDIDATES :

1. SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students has to attempt any ONE question from each SECTION.

2. SECTION-E is COMPULSORY consisting of TEN questions carrying TWENTY
marks in all.

SECTION-A
1) Discuss some computer security threats and how they can be prevented?

2)  What is message authentication in cryptography? How hash functions are used in message
authentication?

SECTION-B

3)  Discuss advantages and disadvantages of token based auti.cntizaticn system?

4)  Explain the need for database security? What are database 4ccess controls in dbms?
SECTION-C

5)  What are the type of malicious software? How they harm the network system?

6)  What are software related security issues? Write the steps to handle security issues?
SECTION-D

7)  Explain the common criteria for Information technology secunity evaluation?

8)  What is security risk assessment and how it works?



9)

10)

14)

15)

16)

18)

SECTION-E

Discuss the importance of digital signatures?

Write in short about Iris Biometric system?

Define relational databases?

What is social engineering attack?

Give example of flooding attack?

What 1s safe programming coding?

Discuss Keylogger system? .
Write a short note on windows security?

What are trusted systems?

What are worms in Information Security?

NOTE : Disclosure of Identity by writing Mobile No. or Marking of passing request on any

2|

paper of Answer Sheet will lead to UMC against the Student.
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MCA (2015 to 2018) (Sem.-3)
JAVA PROGRAMMING
Subject Code : MCA-374

M.Code : 74076

Time : 3 Hrs. Max. Marks : 60

INSTRUCTIONS TO CANDIDATES :

s

2.

3)

3)

0)

1| M

SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students have to attempt any ONE question from each SECTION.

SECTION-E is COMPULSORY consisting of TEN questions carrying TWENTY
marks in all.

SECTION-A

What is meaning of access control of variables and functicns in java? Explain the different
access control mechanisms in java with the help of a suitable vrogram.

Why is the need of JVM in execution of any java program? Discuss the structure of any
Java program.

SECTION-B

What are packages? How packages are created and accessed in java and also briefly discuss
the naming conventions used in packages?

What are different types of exceptions in java? Explain “he excension nandling mechanism
in particular to handling multiple exceptions with the help ¢ = svitable program.

SECTION-C

Define applet. How applet is different from application? Write a java program to create an
applet which will have a line, an Oval & a Rectangle using different graphics class
functions,

What is JDBC? Write a pseudo code program in java for connecting front end application
with the backend database.



7)

9)
10)

11}

13)
14)
15)
16)
17)

18)

SECTION-D

What are java sockets? Discuss the different methods of creating connection and

connectionless sockets in java with the help of suitable program.

What are servlets? Discuss Servlet life cycle along with compilation and deployment of

servlet with the help of a simple program.

SECTION-E
What are advantages of Java programming over C++?
What is byte code?
Give one example of type casting in java.
Define Runnable Interface.
What are characteristics of static members in java?
Define Generic Servlet.
Why do we use JSP?
Which function is used for rotation transformation in JAVA?
Define Event Handling.

Which tag in HTML is used to pass the parameters in applet?

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any

2| M

page of Answer Sheet will lead to UMC against the Student.
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MCA (2015 to 2018) (Sem.-3)
SOFTWARE ENGINEERING & PROJECT MANAGEMENT
Subject Code : MCA-303
M.Code : 74075

Time : 3 Hrs. Max. Marks : 60

T
I Tatz! No. of Pages : 02

INSTRUCTIONS TO CANDIDATES -

1. SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students has to attempt any ONE question fre-n : ack SECTION.

2. SECTION-E is COMPULSORY consisting of TEMN ¢restinrs carrying TWENTY
marks in all.

SECTION-A
1)  What is software engineering? Discuss the evolution of software engineering?
2)  Discuss the importance of Software quality? How software quality can be measured?

SECTION-B

(%)
S

Explain the following :

a) Use of CASE Tools b) Change control process

4)  What is SRS? What are the characteristics of good SRS Document? Explain
SECTION-C

5)  What are the different type of Metrices? Explain their role in software project planning?

6)  Discuss the role of Abstraction refinement and Modularity in software. Also discuss the
heuristics for effective Modularity?

SECTION-D
7)  What is the use of PERT chart in project scheduling? Exp'ain.
8)  Compare and contrast the following :
a) Verification and validation

b) White box and black box testing




SECTION-E

9)  What are the merits and demerits of PERT Chart?

10) What is the need of data design?

11) What is the role of feasibility study in software engineering?
12) Write a note on web engineering?

13) What is functional cohesion?

14) What is methodology?

15) What is the significance of spiral model?

16) List various features of software project planning?

17) Write any two features of object oriented design ?

18) What are the limitations of waterfall Model?

NOTE : Disclosure of Identity by writing Mobile No. or Marking of passing request on any
paper of Answer Sheet will lead to UMC against the Student.

2|
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MCA (2015 & Onwards) (Sem.-3)
INFORMATION SECURITY
Subject Code : MCA-302
M.Code : 74074

Time : 3 Hrs. Max. Marks : 60
INSTRUCTIONS TO CANDIDATES -

1. SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students have to attempt any ONE question from each SECTION.

2. SECTION-E js COMPULSORY consisting of TEN questions carrying TWENTY

SECTION-A

. 1) Tllustrate various Security functional requirements and computer security strategies.

2)  Explain the given cryptographic tools: Public key Encryption, Digital signatures and hash
functions.

SECTION-B
3)  Explain in detail the working of practical application: An Iris Biometric System.

4)  What is the need for Database security? Explain ditferent database access control
mechanisms used in relational databases.

SECTION-C

5)  What do you understand by Malicious Software? Differentiate between Payload-system
corruption, Payload-attack agent and Payload—stealthing.

. 6) Explain with suitable examples: Distributed Denial-of-service attacks and Application
based bandwidth attacks

SECTION-D
7)  Discuss in detai] the Bell-LaPadula model for computer security,
8)  What are security safeguards? Write down the various steps for security management

implementations.
1]
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Total No. of Questions : 09

Time : 3 Hrs. Max. Marks : 60

INSTRUCTIONS TO CANDIDATES :
1.

2:

3.

Man —Teee ~2og _

Qera —~ s

MCA (E-l) (2015 & Onwards) (Sem.-3)
SYSTEM PROGRAMMING
Subject Code : MCA-305A
M.Code : 74077

SECTIONS-A, B, C & D contains TWO questions each carrying TEN marks each
and students has to attempt any ONE question from each SECTION.

SECTION-E is COMPULSORY consisting of TEN questions carrying TWENTY .
marks in all.
Use of non-programmable scientific calculator is allowed.

SECTION-A

Draw detailed Flow Charts and Explain the Algorithm for Two Pass assembler.

a) Explain Two Pass Macro Processor using Flowcharts.

b) Explain concept of Conditional Macro Expansion and macros defining macros with
example.

SECTION-B
a) Give overview of Dynamic Linking with example.
b) Explain the various types of Editors.

Explain various schemes of Loaders with its advantages and disadvantages. Also, Describe
the Design of Absolute loader.

SECTION - C
What do you mean by Compiler? Explain various phases of Compiler with example.
a) Differentiate between Regular and Context Free Grammars. Give Examples.

b) Describe YACC. What is the purpose of this tool?

1| M-74077 {56}-2089



SECTION-D

7. a) Define Operating System. What are the main functions of Operating System?
b) Explain Bootstrapping Techniques and its Subroutines.
8. a) Why I/O Programming is Important? Explain.

b) Explain USB and Plug and Play Systems. Name some Current plug and play interfaces.

SECTION-E
9. Give short answers of the following :
a) What is the Problem of Single Pass Assembly?
b) Explain Deterministic Finite Automata (DFA).
c¢) Differentiate between Compiler and Interpreter.
d) Why Macros are called as Preprocessor statements?
e) Explain different types of Real-Time Operating System with example.
f) What is meant by Subroutine Linkages?
g) What are the Device Drivers?
h) What is Just-in-time Compiler?
i) Explain the use of Debugger.

J) Why is the System Programming APIs Important?

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any
page of Answer Sheet will lead to UMC against the Student.
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